



**Himachal Pradesh University**  
NAAC Accredited 'A' Grade University

Tabulation Sheet in respect of Third Year Examination held in APRIL 2025. The Result of the student has been shown against their names and roll no.

**Abbreviations**

TE - Term End Examination	GP - Grade Point	M.O. - Marks Obtained	M* - Marks with Grace
CCA - Continuous Comprehensive Assessment	CP - Credit Point(Credit X Grade)	M.P.M - Minimum Passing Marks	* - CCA not entered
GL - Grade Letter	GR - Grace	M.M. - Maximum Marks	** - TE not entered
CR - Credit Earned	UMC/U - Unfair Means Case	M" - Reval Marks	TMM - Total Max Marks
COMP. - Compartment	LCC - Late College Capacity		

**Grading :- Absolute Grading**

Percent Marks	Grade Point	Grade	Percent Marks	Grade Point	Grade	Percent Marks	Grade Point	Grade
95% and above	10.0	S+	75 to less than 80 % Marks	8.0	O	55 to less than 60% Marks	6.0	B+
90 to less than 95% Marks	9.5	S	70 to less than 75% Marks	7.5	A++	50 to less than 55% Marks	5.5	B
85 to less than 90% Marks	9.0	O++	65 to less than 70% Marks	7.0	A+	40 to less than 50% Marks	5.0	C
80 to less than 85% Marks	8.5	O+	60 to less than 65% Marks	6.5	A	less than 40% Marks	0	F

**Candidate has to obtain 35% marks each in TE,CCA and 40% in Practical and 40% marks in aggregate to pass in a subject.**

**Course : BA( Regular Batch)**

**Year : Third**

**ExamYear : APRIL 2025**

**Date of Result Declaration : 13-June-2025**

**College Name : GOVT. COLLEGE DIGGAL**

<b>UNIV ROLL NO : 1211910011</b>	FATHER'S NAME : JAGDISH		MOTHER'S NAME : URMILA		Exam Type : FRESH																
<b>CAND.NAME : DEEPIKA</b>	<b>Paper Detail</b>																				
<b>REG NO : 21-GDC-11</b>	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Modern and Contemporary World History-I: 1871-1919 ( HIST(A)305 )	26	11	30	36	25	70	-	-	-	-	62	40	100	A	6.50	6	39.00	6.86	6.42	A+	PASS
Modern and Contemporary World History-II:1919-1992 ( HIST(A)307 )	26	11	30	37	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
Themes in Comparative Political Theory ( POLS 301 (A) )	22	11	30	38	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
Democracy and Governance ( POLS 302 (A) )	24	11	30	43	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00				
Polity and Society in India ( SOCL-A 307 )	28	11	30	46	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00				
Economy and Society ( SOCL-A 308 )	28	11	30	50	25	70	-	-	-	-	78	40	100	O	8.00	6	48.00				
Conflict and Peace Building ( POLS 304 )	25	11	30	37	25	70	-	-	-	-	62	40	100	A	6.50	4	26.00				
Democratic Awareness Through Legal Literacy ( POLS- 303 )	25	11	30	33	25	70	-	-	-	-	58	40	100	B+	6.00	4	24.00				
First Year: MO/MM- 485/800	TC- 44	TCP- 280.00	GPA- 6.36	Second Year: MO/MM- 459/800			TC- 44	TCP- 266.00	GPA- 6.05												
																	<b>Grand Total: 1468</b>	<b>TMM: 2400</b>			

Course : BA( Regular Batch)

Year : Third

ExamYear : APRIL 2025

Date of Result Declaration : 13-June-2025

UNIV ROLL NO : 1211910033 CAND.NAME : NEHA REG NO : 21-GDC-34			FATHER'S NAME : SUNDER DAS							MOTHER'S NAME : PAMMI DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Indian Economy ( ECONA301 )	29	11	30	41	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00	6.95	6.62	A+	PASS
International Economics ( ECONA306 )	29	11	30	30	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00				
Aadhunik Bhartiya Sahitya ( HIND307 )	25	11	30	48	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00				
Srajnatmak Lekhan Ke Vividh Kshetra ( HIND308 )	23	11	30	50	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00				
Matrices ( MATH301 )	27	11	30	40	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00				
Numerical Methods ( MATH304 )	28	11	30	32	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
Probability and Statistics ( MATH313 )	27	11	30	30	25	70	-	-	-	-	57	40	100	B+	6.00	4	24.00				
Transportation And Game Theory ( MATH317 )	27	11	30	47	25	70	-	-	-	-	74	40	100	A++	7.50	4	30.00				
										-	MO/MM- 533 / 800					TC-44	TCP - 306.00	Dis. -			
First Year: MO/MM- 432/800 TC- 44 TCP- 255.00 GPA- 5.80							Second Year: MO/MM- 549/800 TC- 44 TCP- 313.00 GPA- 7.11							<b>Grand Total: 1514</b>				<b>TMM: 2400</b>			
UNIV ROLL NO : 1211910051 CAND.NAME : RANO DEVI REG NO : 21-GDC-51			FATHER'S NAME : RAMESHWAR DAS							MOTHER'S NAME : MEENA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Lok Sahitya ( HIND305 )	15	11	30	44	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00	6.34	5.91	A	PASS
Chaayavadottar Hindi Kavita ( HIND306 )	15	11	30	53	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00				
Themes in Comparative Political Theory ( POLS 301 (A) )	15	11	30	30	25	70	-	-	-	-	45	40	100	C	5.00	6	30.00				
Democracy and Governance ( POLS 302 (A) )	15	11	30	51	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00				
Polity and Society in India ( SOCL-A 307 )	15	11	30	50	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
Economy and Society ( SOCL-A 308 )	15	11	30	57	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00				
Conflict and Peace Building ( POLS 304 )	15	11	30	35	25	70	-	-	-	-	50	40	100	B	5.50	4	22.00				
Democratic Awareness Through Legal Literacy ( POLS- 303 )	15	11	30	31	25	70	-	-	-	-	46	40	100	C	5.00	4	20.00				
										-	MO/MM- 471 / 800					TC-44	TCP - 279.00	Dis. -			
First Year: MO/MM- 409/800 TC- 44 TCP- 246.00 GPA- 5.59							Second Year: MO/MM- 443/800 TC- 44 TCP- 255.00 GPA- 5.80							<b>Grand Total: 1323</b>				<b>TMM: 2400</b>			
UNIV ROLL NO : 1201910009 CAND.NAME : HARJEET SINGH REG NO : 20-GDC-19			FATHER'S NAME : SURENDER SINGH							MOTHER'S NAME : SHANTI DEVI							Exam Type : LATE COLLEGE CAPACITY				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Modern and Contemporary World History-I: 1871-1919 ( HIST(A)305 )	19	11	30	25*	25	70	-	-	-	7	44	40	100	C	5.00	6	30.00	6.05	6.55	A	PASS
Modern and Contemporary World History-II:1919-1992 ( HIST(A)307 )	20	11	30	33	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Themes in Comparative Political Theory ( POLS 301 (A) )	23	11	30	34	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00				
Democracy and Governance ( POLS 302 (A) )	21	11	30	37	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00				
Polity and Society in India ( SOCL-A 307 )	24	11	30	30	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Economy and Society ( SOCL-A 308 )	25	11	30	51	25	70	-	-	-	-	76	40	100	O	8.00	6	48.00				
Indian History and Culture ( HIST(A)317 )	27	11	30	44	25	70	-	-	-	-	71	40	100	A++	7.50	4	30.00				
Introduction to Indian Art ( HIST(A)319 )	24	11	30	25	25	70	-	-	-	-	49	40	100	C	5.00	4	20.00				
										7	MO/MM- 462 / 800					TC-44	TCP - 266.00	Dis. -			
First Year: MO/MM- 614/800 TC- 44 TCP- 352.00 GPA- 8.00							Second Year: MO/MM- 434/800 TC- 44 TCP- 247.00 GPA- 5.61							<b>Grand Total: 1510</b>				<b>TMM: 2400</b>			

Course : BA( Regular Batch)

Year : Third

ExamYear : APRIL 2025

Date of Result Declaration : 13-June-2025

UNIV ROLL NO : 1221880004 CAND.NAME : ARCHANA REG NO : 22-GDC-20			FATHER'S NAME : KAMAL KUMAR							MOTHER'S NAME : GEETA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Lok Sahitya ( HIND305 )	26	11	30	48	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00	7.57	7.00	O	PASS
Chaayavadottar Hindi Kavita ( HIND306 )	28	11	30	54	25	70	-	-	-	-	82	40	100	O+	8.50	6	51.00				
Social-Religious Reform Movements in India (19th and 20th Centuries) ( HIST(A)310 )	26	11	30	45	25	70	-	-	-	-	71	40	100	A++	7.50	6	45.00				
History of Himachal Pradesh, 1815-1972 ( HIST(A)312 )	25	11	30	40	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
Themes in Comparative Political Theory ( POLS 301 (A) )	27	11	30	45	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00				
Democracy and Governance ( POLS 302 (A) )	25	11	30	45	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00				
Rang Aalekh avum Rangmanch ( HIND301 )	26	11	30	37	25	70	-	-	-	-	63	40	100	A	6.50	4	26.00				
Samachar Sankalan aur Lekhan ( HIND304 )	28	11	30	53	25	70	-	-	-	-	81	40	100	O+	8.50	4	34.00				
										-	MO/MM- 578 / 800					TC-44	TCP - 333.00	Dis. -			
First Year: MO/MM- 479/800 TC- 44 TCP- 282.00 GPA- 6.41						Second Year: MO/MM- 531/800 TC- 44 TCP- 309.00 GPA- 7.02						<b>Grand Total: 1588</b>				<b>TMM: 2400</b>					
UNIV ROLL NO : 1221880007 CAND.NAME : DHEERAJ KUMAR REG NO : 22-GDC-40			FATHER'S NAME : RAM KRISHAN							MOTHER'S NAME : SURENDRA KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Indian Economy ( ECONA301 )	29	11	30	41	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00	7.18	7.12	A++	PASS
International Economics ( ECONA306 )	30	11	30	26	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
Social-Religious Reform Movements in India (19th and 20th Centuries) ( HIST(A)310 )	26	11	30	38	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
History of Himachal Pradesh, 1815-1972 ( HIST(A)312 )	25	11	30	41	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00				
Themes in Comparative Political Theory ( POLS 301 (A) )	27	11	30	46	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00				
Democracy and Governance ( POLS 302 (A) )	29	11	30	43	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00				
Conflict and Peace Building ( POLS 304 )	27	11	30	51	25	70	-	-	-	-	78	40	100	O	8.00	4	32.00				
Democratic Awareness Through Legal Literacy ( POLS- 303 )	29	11	30	46	25	70	-	-	-	-	75	40	100	O	8.00	4	32.00				
										-	MO/MM- 554 / 800					TC-44	TCP - 316.00	Dis. -			
First Year: MO/MM- 534/800 TC- 44 TCP- 313.00 GPA- 7.11						Second Year: MO/MM- 549/800 TC- 44 TCP- 311.00 GPA- 7.07						<b>Grand Total: 1637</b>				<b>TMM: 2400</b>					
UNIV ROLL NO : 1221880009 CAND.NAME : HARSHA KUMARI REG NO : 22-GDC-12			FATHER'S NAME : DHARM PAL							MOTHER'S NAME : SOMA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Lok Sahitya ( HIND305 )	28	11	30	45	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00	7.61	7.05	O	PASS
Chaayavadottar Hindi Kavita ( HIND306 )	25	11	30	53	25	70	-	-	-	-	78	40	100	O	8.00	6	48.00				
Social-Religious Reform Movements in India (19th and 20th Centuries) ( HIST(A)310 )	25	11	30	48	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00				
History of Himachal Pradesh, 1815-1972 ( HIST(A)312 )	26	11	30	39	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
Marriage, Family and Kinship ( SOCL-A 304 )	28	11	30	51	25	70	-	-	-	-	79	40	100	O	8.00	6	48.00				
Social Stratification ( SOCL-A 305 )	28	11	30	44	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00				
Rang Aalekh avum Rangmanch ( HIND301 )	26	11	30	46	25	70	-	-	-	-	72	40	100	A++	7.50	4	30.00				
Samachar Sankalan aur Lekhan ( HIND304 )	27	11	30	50	25	70	-	-	-	-	77	40	100	O	8.00	4	32.00				
										-	MO/MM- 589 / 800					TC-44	TCP - 335.00	Dis. -			
First Year: MO/MM- 502/800 TC- 44 TCP- 300.00 GPA- 6.82						Second Year: MO/MM- 506/800 TC- 44 TCP- 296.00 GPA- 6.73						<b>Grand Total: 1597</b>				<b>TMM: 2400</b>					

Course : BA( Regular Batch)

Year : Third

ExamYear : APRIL 2025

Date of Result Declaration : 13-June-2025

UNIV ROLL NO : 1221880012 CAND.NAME : KANCHAN REG NO : 22-GDC-21			FATHER'S NAME : PADAM DEV							MOTHER'S NAME : NISHA DEVI							Exam Type : FRESH						
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status		
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Lok Sahitya ( HIND305 )	30	11	30	50	25	70	-	-	-	-	80	40	100	O+	8.50	6	51.00	8.55	8.41	O++	PASS		
Chaayavadottar Hindi Kavita ( HIND306 )	30	11	30	63	25	70	-	-	-	-	93	40	100	S	9.50	6	57.00						
Social-Religious Reform Movements in India (19th and 20th Centuries) ( HIST(A)310 )	28	11	30	48	25	70	-	-	-	-	76	40	100	O	8.00	6	48.00						
History of Himachal Pradesh, 1815-1972 ( HIST(A)312 )	28	11	30	51	25	70	-	-	-	-	79	40	100	O	8.00	6	48.00						
Marriage, Family and Kinship ( SOCL-A 304 )	30	11	30	52	25	70	-	-	-	-	82	40	100	O+	8.50	6	51.00						
Social Stratification ( SOCL-A 305 )	30	11	30	50	25	70	-	-	-	-	80	40	100	O+	8.50	6	51.00						
Rang Aalekh avum Rangmanch ( HIND301 )	30	11	30	52	25	70	-	-	-	-	82	40	100	O+	8.50	4	34.00						
Samachar Sankalan aur Lekhan ( HIND304 )	30	11	30	59	25	70	-	-	-	-	89	40	100	O++	9.00	4	36.00						
										-	MO/MM- 661 / 800					TC-44	TCP - 376.00	Dis. -					
First Year: MO/MM- 604/800 TC- 44 TCP- 355.00 GPA- 8.07						Second Year: MO/MM- 658/800 TC- 44 TCP- 379.00 GPA- 8.61						<b>Grand Total: 1923</b>				<b>TMM: 2400</b>							
UNIV ROLL NO : 1221880013 CAND.NAME : KAVITA REG NO : 22-GDC-24			FATHER'S NAME : SURESH KUMAR							MOTHER'S NAME : NISHA DEVI							Exam Type : FRESH						
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status		
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Lok Sahitya ( HIND305 )	27	11	30	46	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00	7.55	7.22	O	PASS		
Chaayavadottar Hindi Kavita ( HIND306 )	27	11	30	55	25	70	-	-	-	-	82	40	100	O+	8.50	6	51.00						
Social-Religious Reform Movements in India (19th and 20th Centuries) ( HIST(A)310 )	28	11	30	43	25	70	-	-	-	-	71	40	100	A++	7.50	6	45.00						
History of Himachal Pradesh, 1815-1972 ( HIST(A)312 )	26	11	30	29	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00						
Marriage, Family and Kinship ( SOCL-A 304 )	28	11	30	48	25	70	-	-	-	-	76	40	100	O	8.00	6	48.00						
Social Stratification ( SOCL-A 305 )	28	11	30	45	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00						
Rang Aalekh avum Rangmanch ( HIND301 )	29	11	30	50	25	70	-	-	-	-	79	40	100	O	8.00	4	32.00						
Samachar Sankalan aur Lekhan ( HIND304 )	28	11	30	43	25	70	-	-	-	-	71	40	100	A++	7.50	4	30.00						
										-	MO/MM- 580 / 800					TC-44	TCP - 332.00	Dis. -					
First Year: MO/MM- 484/800 TC- 44 TCP- 288.00 GPA- 6.55						Second Year: MO/MM- 574/800 TC- 44 TCP- 332.00 GPA- 7.55						<b>Grand Total: 1638</b>				<b>TMM: 2400</b>							
UNIV ROLL NO : 1221880014 CAND.NAME : KHUSHI REG NO : 22-GDC-14			FATHER'S NAME : KHEM SINGH							MOTHER'S NAME : CHINTA DEVI							Exam Type : FRESH						
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status		
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Lok Sahitya ( HIND305 )	24	11	30	48	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00	7.16	-	A++	PASS		
Chaayavadottar Hindi Kavita ( HIND306 )	26	11	30	47	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00						
Social-Religious Reform Movements in India (19th and 20th Centuries) ( HIST(A)310 )	26	11	30	31	25	70	-	-	-	-	57	40	100	B+	6.00	6	36.00						
History of Himachal Pradesh, 1815-1972 ( HIST(A)312 )	26	11	30	29	25	70	-	-	-	-	55	40	100	B+	6.00	6	36.00						
Marriage, Family and Kinship ( SOCL-A 304 )	28	11	30	40	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00						
Social Stratification ( SOCL-A 305 )	28	11	30	43	25	70	-	-	-	-	71	40	100	A++	7.50	6	45.00						
Social Demography ( SOCL-A 301 )	28	11	30	48	25	70	-	-	-	-	76	40	100	O	8.00	4	32.00						
Theory and Practice of Development ( SOCL-A 302 )	29	11	30	55	25	70	-	-	-	-	84	40	100	O+	8.50	4	34.00						
										-	MO/MM- 556 / 800					TC-44	TCP - 315.00	Dis. -					
First Year: MO/MM- 442/800 TC- 44 TCP- 265.00 GPA- 6.02						Second Year: MO/MM- / TC-						TCP- GPA-				<b>Grand Total: -</b>				<b>TMM: 2400</b>			

Course : BA( Regular Batch)

Year : Third

ExamYear : APRIL 2025

Date of Result Declaration : 13-June-2025

UNIV ROLL NO : 1221880015 CAND.NAME : KRISHMA JYOTI REG NO : 22-GDC-9			FATHER'S NAME : SATYA PAL							MOTHER'S NAME : SUNITA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Lok Sahitya ( HIND305 )	29	11	30	51	25	70	-	-	-	-	80	40	100	O+	8.50	6	51.00	7.32	6.96	A++	PASS
Chaayavadottar Hindi Kavita ( HIND306 )	30	11	30	54	25	70	-	-	-	-	84	40	100	O+	8.50	6	51.00				
Social-Religious Reform Movements in India (19th and 20th Centuries) ( HIST(A)310 )	28	11	30	47	25	70	-	-	-	-	75	40	100	O	8.00	6	48.00				
History of Himachal Pradesh, 1815-1972 ( HIST(A)312 )	27	11	30	43	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00				
Matrices ( MATH301 )	26	11	30	32	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00				
Numerical Methods ( MATH304 )	27	11	30	25*	25	70	-	-	-	3	52	40	100	B	5.50	6	33.00				
Probability and Statistics ( MATH313 )	28	11	30	32	25	70	-	-	-	-	60	40	100	A	6.50	4	26.00				
Transportation And Game Theory ( MATH317 )	28	11	30	51	25	70	-	-	-	-	79	40	100	O	8.00	4	32.00				
										3	MO/MM- 558 / 800					TC-44	TCP - 322.00	Dis. -			
First Year: MO/MM- 505/800 TC- 44 TCP- 295.00 GPA- 6.70						Second Year: MO/MM- 523/800 TC- 44 TCP- 302.00 GPA- 6.86						Grand Total: 1586				TMM: 2400					
UNIV ROLL NO : 1221880017 CAND.NAME : MAHIMA DEVI REG NO : 22-GDC-29			FATHER'S NAME : RAJENDER KUMAR							MOTHER'S NAME : LAJWANTI DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Modern and Contemporary World History-I: 1871-1919 ( HIST(A)305 )	29	11	30	52	25	70	-	-	-	-	81	40	100	O+	8.50	6	51.00	8.11	7.51	O+	PASS
Modern and Contemporary World History-II:1919-1992 ( HIST(A)307 )	28	11	30	58	25	70	-	-	-	-	86	40	100	O++	9.00	6	54.00				
Themes in Comparative Political Theory ( POLS 301 (A) )	28	11	30	46	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00				
Democracy and Governance ( POLS 302 (A) )	28	11	30	53	25	70	-	-	-	-	81	40	100	O+	8.50	6	51.00				
Polity and Society in India ( SOCL-A 307 )	29	11	30	53	25	70	-	-	-	-	82	40	100	O+	8.50	6	51.00				
Economy and Society ( SOCL-A 308 )	29	11	30	52	25	70	-	-	-	-	81	40	100	O+	8.50	6	51.00				
Indian History and Culture ( HIST(A)317 )	27	11	30	35	25	70	-	-	-	-	62	40	100	A	6.50	4	26.00				
Introduction to Indian Art ( HIST(A)319 )	27	11	30	41	25	70	-	-	-	-	68	40	100	A+	7.00	4	28.00				
										-	MO/MM- 615 / 800					TC-44	TCP - 357.00	Dis. -			
First Year: MO/MM- 519/800 TC- 44 TCP- 302.00 GPA- 6.86						Second Year: MO/MM- 581/800 TC- 44 TCP- 333.00 GPA- 7.57						Grand Total: 1715				TMM: 2400					
UNIV ROLL NO : 1221880018 CAND.NAME : MANPREET KAUR REG NO : 22-GDC-41			FATHER'S NAME : RAM LOK							MOTHER'S NAME : VIDYA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Theory of Indian Music & Study of Ancient Ragas ( MUSA303TH )	13	5	15	32	12	35	-	-	-	-	45	20	50	S	9.50	3	28.50	8.20	7.41	O+	PASS
Vocal/Instrumental (Hindustani Music)-Practical ( MUSA304PR )	13	5	15	-	-	-	30	14	35	-	43	20	50	O++	9.00	3	27.00				
Theory of Indian Music & Gharana Tradition ( MUSA305TH )	13	5	15	32	12	35	-	-	-	-	45	20	50	S	9.50	3	28.50				
Vocal/Instrumental (Hindustani Music)-Practical ( MUSA306PR )	14	5	15	-	-	-	30	14	35	-	44	20	50	O++	9.00	3	27.00				
Themes in Comparative Political Theory ( POLS 301 (A) )	27	11	30	53	25	70	-	-	-	-	80	40	100	O+	8.50	6	51.00				
Democracy and Governance ( POLS 302 (A) )	29	11	30	50	25	70	-	-	-	-	79	40	100	O	8.00	6	48.00				
Polity and Society in India ( SOCL-A 307 )	28	11	30	45	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00				
Economy and Society ( SOCL-A 308 )	28	11	30	51	25	70	-	-	-	-	79	40	100	O	8.00	6	48.00				
Conflict and Peace Building ( POLS 304 )	27	11	30	46	25	70	-	-	-	-	73	40	100	A++	7.50	4	30.00				
Democratic Awareness Through Legal Literacy ( POLS- 303 )	23	11	30	43	25	70	-	-	-	-	66	40	100	A+	7.00	4	28.00				
										-	MO/MM- 627 / 800					TC-44	TCP - 361.00	Dis. -			
First Year: MO/MM- 534/800 TC- 44 TCP- 312.50 GPA- 7.10						Second Year: MO/MM- 524/800 TC- 44 TCP- 305.50 GPA- 6.94						Grand Total: 1685				TMM: 2400					

UNIV ROLL NO : 1221880019 CAND.NAME : MEHAK KUMARI REG NO : 22-GDC-13			FATHER'S NAME : DINESH KUMAR							MOTHER'S NAME : LEELA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Lok Sahitya ( HIND305 )	24	11	30	44	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00	8.41	7.38	O+	PASS
Chaayavadottar Hindi Kavita ( HIND306 )	28	11	30	49	25	70	-	-	-	-	77	40	100	O	8.00	6	48.00				
Theory of Indian Music & Study of Ancient Ragas ( MUSA303TH )	14	5	15	32	12	35	-	-	-	-	46	20	50	S	9.50	3	28.50				
Vocal/Instrumental (Hindustani Music)-Practical ( MUSA304PR )	14	5	15	-	-	-	32	14	35	-	46	20	50	S	9.50	3	28.50				
Theory of Indian Music & Gharana Tradition ( MUSA305TH )	14	5	15	32	12	35	-	-	-	-	46	20	50	S	9.50	3	28.50				
Vocal/Instrumental (Hindustani Music)-Practical ( MUSA306PR )	14	5	15	-	-	-	32	14	35	-	46	20	50	S	9.50	3	28.50				
Polity and Society in India ( SOCL-A 307 )	28	11	30	52	25	70	-	-	-	-	80	40	100	O+	8.50	6	51.00				
Economy and Society ( SOCL-A 308 )	28	11	30	54	25	70	-	-	-	-	82	40	100	O+	8.50	6	51.00				
Rang Aalekh avum Rangmanch ( HIND301 )	26	11	30	51	25	70	-	-	-	-	77	40	100	O	8.00	4	32.00				
Samachar Sankalan aur Lekhan ( HIND304 )	27	11	30	50	25	70	-	-	-	-	77	40	100	O	8.00	4	32.00				
										-	MO/MM- 645 / 800					TC-44	TCP - 370.00	Dis. -			
First Year: MO/MM- 491/800 TC- 44 TCP- 287.50 GPA- 6.53							Second Year: MO/MM- 550/800 TC- 44 TCP- 316.50 GPA- 7.19							Grand Total: 1686				TMM: 2400			
UNIV ROLL NO : 1221880022 CAND.NAME : NEELAM KUMARI REG NO : 22-GDC-52			FATHER'S NAME : LEKH RAJ							MOTHER'S NAME : VIDYA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Aadhunik Bhartiya Sahitya ( HIND307 )	26	11	30	46	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00	7.93	7.11	O	PASS
Srajnatmak Lekhan Ke Vividh Kshetra ( HIND308 )	26	11	30	55	25	70	-	-	-	-	81	40	100	O+	8.50	6	51.00				
Modern and Contemporary World History-I: 1871-1919 ( HIST(A)305 )	26	11	30	46	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00				
Modern and Contemporary World History-II:1919-1992 ( HIST(A)307 )	27	11	30	45	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00				
Marriage, Family and Kinship ( SOCL-A 304 )	28	11	30	54	25	70	-	-	-	-	82	40	100	O+	8.50	6	51.00				
Social Stratification ( SOCL-A 305 )	28	11	30	40	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00				
Indian History and Culture ( HIST(A)317 )	27	11	30	54	25	70	-	-	-	-	81	40	100	O+	8.50	4	34.00				
Introduction to Indian Art ( HIST(A)319 )	27	11	30	59	25	70	-	-	-	-	86	40	100	O++	9.00	4	36.00				
										-	MO/MM- 614 / 800					TC-44	TCP - 349.00	Dis. -			
First Year: MO/MM- 481/800 TC- 44 TCP- 279.00 GPA- 6.34							Second Year: MO/MM- 536/800 TC- 44 TCP- 310.00 GPA- 7.05							Grand Total: 1631				TMM: 2400			
UNIV ROLL NO : 1221880025 CAND.NAME : PAWAN KUMAR REG NO : 22-GDC-50			FATHER'S NAME : CHAMAN LAL							MOTHER'S NAME : HEERA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Indian Economy ( ECONA301 )	28	11	30	32	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (ECONA3 06)
International Economics ( ECONA306 )	29	11	30	13	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Social-Religious Reform Movements in India (19th and 20th Centuries) ( HIST(A)310 )	26	11	30	37	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
History of Himachal Pradesh, 1815-1972 ( HIST(A)312 )	26	11	30	38	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
Themes in Comparative Political Theory ( POLS 301 (A) )	26	11	30	42	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00				
Democracy and Governance ( POLS 302 (A) )	24	11	30	43	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00				
Public Finance ( ECONA310 )	29	11	30	38	25	70	-	-	-	-	67	40	100	A+	7.00	4	28.00				
Money & Banking ( ECONA311 )	28	11	30	33	25	70	-	-	-	-	61	40	100	A	6.50	4	26.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
First Year: MO/MM- 503/800 TC- 44 TCP- 287.00 GPA- 6.52							Second Year: MO/MM- 553/800 TC- 44 TCP- 312.00 GPA- 7.09							Grand Total: -				TMM: 2400			

UNIV ROLL NO : 1221880026 CAND.NAME : POONAM REG NO : 22-GDC-35			FATHER'S NAME : GOPAL CHAND							MOTHER'S NAME : SEEMA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Theory of Indian Music & Study of Ancient Ragas ( MUSA303TH )	15	5	15	27	12	35	-	-	-	-	42	20	50	O+	8.50	3	25.50	8.69	8.23	O++	PASS
Vocal/Instrumental (Hindustani Music)-Practical ( MUSA304PR )	14	5	15	-	-	-	35	14	35	-	49	20	50	S+	10.00	3	30.00				
Theory of Indian Music & Gharana Tradition ( MUSA305TH )	15	5	15	34	12	35	-	-	-	-	49	20	50	S+	10.00	3	30.00				
Vocal/Instrumental (Hindustani Music)-Practical ( MUSA306PR )	15	5	15	-	-	-	35	14	35	-	50	20	50	S+	10.00	3	30.00				
Themes in Comparative Political Theory ( POLS 301 (A) )	29	11	30	52	25	70	-	-	-	-	81	40	100	O+	8.50	6	51.00				
Democracy and Governance ( POLS 302 (A) )	30	11	30	54	25	70	-	-	-	-	84	40	100	O+	8.50	6	51.00				
Polity and Society in India ( SOCL-A 307 )	29	11	30	48	25	70	-	-	-	-	77	40	100	O	8.00	6	48.00				
Economy and Society ( SOCL-A 308 )	29	11	30	54	25	70	-	-	-	-	83	40	100	O+	8.50	6	51.00				
Conflict and Peace Building ( POLS 304 )	30	11	30	52	25	70	-	-	-	-	82	40	100	O+	8.50	4	34.00				
Democratic Awareness Through Legal Literacy ( POLS- 303 )	26	11	30	49	25	70	-	-	-	-	75	40	100	O	8.00	4	32.00				
										-	MO/MM- 672 / 800					TC-44	TCP - 382.50	Dis. -			
First Year: MO/MM- 629/800 TC- 44 TCP- 360.50 GPA- 8.19							Second Year: MO/MM- 600/800 TC- 44 TCP- 335.50 GPA- 7.63							<b>Grand Total: 1901</b>				<b>TMM: 2400</b>			
UNIV ROLL NO : 1221880030 CAND.NAME : RESHMA REG NO : 22-GDC-33			FATHER'S NAME : BABU RAM							MOTHER'S NAME : KAUSHLYA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Lok Sahitya ( HIND305 )	26	11	30	50	25	70	-	-	-	-	76	40	100	O	8.00	6	48.00	7.70	7.22	O	PASS
Chaayavadottar Hindi Kavita ( HIND306 )	28	11	30	53	25	70	-	-	-	-	81	40	100	O+	8.50	6	51.00				
Social-Religious Reform Movements in India (19th and 20th Centuries) ( HIST(A)310 )	26	11	30	47	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00				
History of Himachal Pradesh, 1815-1972 ( HIST(A)312 )	26	11	30	41	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00				
Themes in Comparative Political Theory ( POLS 301 (A) )	26	11	30	41	25	70	-	-	-	-	67	40	100	A+	7.00	6	42.00				
Democracy and Governance ( POLS 302 (A) )	24	11	30	46	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00				
Rang Aalekh avum Rangmanch ( HIND301 )	27	11	30	49	25	70	-	-	-	-	76	40	100	O	8.00	4	32.00				
Samachar Sankalan aur Lekhan ( HIND304 )	28	11	30	53	25	70	-	-	-	-	81	40	100	O+	8.50	4	34.00				
										-	MO/MM- 591 / 800					TC-44	TCP - 339.00				
First Year: MO/MM- 507/800 TC- 44 TCP- 292.00 GPA- 6.64							Second Year: MO/MM- 559/800 TC- 44 TCP- 322.00 GPA- 7.32							<b>Grand Total: 1657</b>				<b>TMM: 2400</b>			
UNIV ROLL NO : 1221880031 CAND.NAME : SAKSHI REG NO : 22-GDC-22			FATHER'S NAME : RAM PRATAP							MOTHER'S NAME : MEENA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Lok Sahitya ( HIND305 )	25	11	30	50	25	70	-	-	-	-	75	40	100	O	8.00	6	48.00	7.80	6.96	O	PASS
Chaayavadottar Hindi Kavita ( HIND306 )	27	11	30	58	25	70	-	-	-	-	85	40	100	O++	9.00	6	54.00				
Social-Religious Reform Movements in India (19th and 20th Centuries) ( HIST(A)310 )	26	11	30	40	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00				
History of Himachal Pradesh, 1815-1972 ( HIST(A)312 )	26	11	30	35	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
Marriage, Family and Kinship ( SOCL-A 304 )	29	11	30	50	25	70	-	-	-	-	79	40	100	O	8.00	6	48.00				
Social Stratification ( SOCL-A 305 )	29	11	30	48	25	70	-	-	-	-	77	40	100	O	8.00	6	48.00				
Rang Aalekh avum Rangmanch ( HIND301 )	23	11	30	48	25	70	-	-	-	-	71	40	100	A++	7.50	4	30.00				
Samachar Sankalan aur Lekhan ( HIND304 )	25	11	30	57	25	70	-	-	-	-	82	40	100	O+	8.50	4	34.00				
										-	MO/MM- 596 / 800					TC-44	TCP - 343.00	Dis. -			
First Year: MO/MM- 473/800 TC- 44 TCP- 274.00 GPA- 6.23							Second Year: MO/MM- 519/800 TC- 44 TCP- 301.00 GPA- 6.84							<b>Grand Total: 1588</b>				<b>TMM: 2400</b>			

Course : BA( Regular Batch)

Year : Third

ExamYear : APRIL 2025

Date of Result Declaration : 13-June-2025

UNIV ROLL NO : 1221880032 CAND.NAME : SAKSHI SHARMA REG NO : 22-GDC-46			FATHER'S NAME : VIRENDER KUMAR							MOTHER'S NAME : TOTA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Indian Economy ( ECONA301 )	30	11	30	43	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00	7.98	7.92	O	PASS
International Economics ( ECONA306 )	30	11	30	26	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
Social-Religious Reform Movements in India (19th and 20th Centuries) ( HIST(A)310 )	27	11	30	57	25	70	-	-	-	-	84	40	100	O+	8.50	6	51.00				
History of Himachal Pradesh, 1815-1972 ( HIST(A)312 )	28	11	30	54	25	70	-	-	-	-	82	40	100	O+	8.50	6	51.00				
Themes in Comparative Political Theory ( POLS 301 (A) )	29	11	30	55	25	70	-	-	-	-	84	40	100	O+	8.50	6	51.00				
Democracy and Governance ( POLS 302 (A) )	30	11	30	54	25	70	-	-	-	-	84	40	100	O+	8.50	6	51.00				
Conflict and Peace Building ( POLS 304 )	30	11	30	54	25	70	-	-	-	-	84	40	100	O+	8.50	4	34.00				
Democratic Awareness Through Legal Literacy ( POLS- 303 )	28	11	30	50	25	70	-	-	-	-	78	40	100	O	8.00	4	32.00				
										-	MO/MM- 625 / 800					TC-44	TCP - 351.00	Dis. -			
First Year: MO/MM- 598/800 TC- 44 TCP- 339.00 GPA- 7.70							Second Year: MO/MM- 627/800 TC- 44 TCP- 355.00 GPA- 8.07							<b>Grand Total: 1850</b>				<b>TMM: 2400</b>			

UNIV ROLL NO : 1221880037 CAND.NAME : SARITA DEVI REG NO : 22-GDC-51			FATHER'S NAME : LACHHMAN							MOTHER'S NAME : NARAYANI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Lok Sahitya ( HIND305 )	25	11	30	47	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00	8.02	7.42	O+	PASS
Chaayavadottar Hindi Kavita ( HIND306 )	26	11	30	64	25	70	-	-	-	-	90	40	100	S	9.50	6	57.00				
Social-Religious Reform Movements in India (19th and 20th Centuries) ( HIST(A)310 )	26	11	30	42	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00				
History of Himachal Pradesh, 1815-1972 ( HIST(A)312 )	26	11	30	37	25	70	-	-	-	-	63	40	100	A	6.50	6	39.00				
Marriage, Family and Kinship ( SOCL-A 304 )	29	11	30	52	25	70	-	-	-	-	81	40	100	O+	8.50	6	51.00				
Social Stratification ( SOCL-A 305 )	29	11	30	43	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00				
Social Demography ( SOCL-A 301 )	29	11	30	54	25	70	-	-	-	-	83	40	100	O+	8.50	4	34.00				
Theory and Practice of Development ( SOCL-A 302 )	30	11	30	67	25	70	-	-	-	-	97	40	100	S+	10.00	4	40.00				
										-	MO/MM- 626 / 800					TC-44	TCP - 353.00	Dis. -			
First Year: MO/MM- 503/800 TC- 44 TCP- 298.00 GPA- 6.77							Second Year: MO/MM- 574/800 TC- 44 TCP- 329.00 GPA- 7.48							<b>Grand Total: 1703</b>				<b>TMM: 2400</b>			

UNIV ROLL NO : 1221880042 CAND.NAME : TARLOK REG NO : 22-GDC-30			FATHER'S NAME : SHANKAR LAL							MOTHER'S NAME : RISHMA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Aadhunik Bhartiya Sahitya ( HIND307 )	26	11	30	44	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00	7.93	7.02	O	PASS
Srajnatmak Lekhan Ke Vividh Kshetra ( HIND308 )	26	11	30	54	25	70	-	-	-	-	80	40	100	O+	8.50	6	51.00				
Modern and Contemporary World History-I: 1871-1919 ( HIST(A)305 )	28	11	30	42	25	70	-	-	-	-	70	40	100	A++	7.50	6	45.00				
Modern and Contemporary World History-II:1919-1992 ( HIST(A)307 )	27	11	30	51	25	70	-	-	-	-	78	40	100	O	8.00	6	48.00				
Themes in Comparative Political Theory ( POLS 301 (A) )	25	11	30	48	25	70	-	-	-	-	73	40	100	A++	7.50	6	45.00				
Democracy and Governance ( POLS 302 (A) )	26	11	30	54	25	70	-	-	-	-	80	40	100	O+	8.50	6	51.00				
Conflict and Peace Building ( POLS 304 )	25	11	30	53	25	70	-	-	-	-	78	40	100	O	8.00	4	32.00				
Democratic Awareness Through Legal Literacy ( POLS- 303 )	26	11	30	51	25	70	-	-	-	-	77	40	100	O	8.00	4	32.00				
										-	MO/MM- 606 / 800					TC-44	TCP - 349.00	Dis. -			
First Year: MO/MM- 492/800 TC- 44 TCP- 287.00 GPA- 6.52							Second Year: MO/MM- 514/800 TC- 44 TCP- 291.00 GPA- 6.61							<b>Grand Total: 1612</b>				<b>TMM: 2400</b>			

Course : BA( Regular Batch)

Year : Third

ExamYear : APRIL 2025

Date of Result Declaration : 13-June-2025

UNIV ROLL NO : 1221880043 CAND.NAME : VANDANA REG NO : 22-GDC-15			FATHER'S NAME : KRISHAN LAL							MOTHER'S NAME : TARA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Lok Sahitya ( HIND305 )	23	11	30	52	25	70	-	-	-	-	75	40	100	O	8.00	6	48.00	7.68	6.59	O	PASS
Chaayavadottar Hindi Kavita ( HIND306 )	26	11	30	57	25	70	-	-	-	-	83	40	100	O+	8.50	6	51.00				
Themes in Comparative Political Theory ( POLS 301 (A) )	25	11	30	34	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00				
Democracy and Governance ( POLS 302 (A) )	21	11	30	45	25	70	-	-	-	-	66	40	100	A+	7.00	6	42.00				
Polity and Society in India ( SOCL-A 307 )	28	11	30	50	25	70	-	-	-	-	78	40	100	O	8.00	6	48.00				
Economy and Society ( SOCL-A 308 )	28	11	30	52	25	70	-	-	-	-	80	40	100	O+	8.50	6	51.00				
Rang Aalekh avum Rangmanch ( HIND301 )	25	11	30	45	25	70	-	-	-	-	70	40	100	A++	7.50	4	30.00				
Samachar Sankalan aur Lekhan ( HIND304 )	25	11	30	51	25	70	-	-	-	-	76	40	100	O	8.00	4	32.00				
										-	MO/MM- 587 / 800					TC-44	TCP - 338.00	Dis. -			
First Year: MO/MM- 440/800 TC- 44 TCP- 258.00 GPA- 5.86							Second Year: MO/MM- 469/800 TC- 44 TCP- 274.00 GPA- 6.23							<b>Grand Total: 1496</b>				<b>TMM: 2400</b>			

UNIV ROLL NO : 1221880044 CAND.NAME : VEENA KUMARI REG NO : 22-GDC-45			FATHER'S NAME : SHYAM LAL							MOTHER'S NAME : KAMLA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Lok Sahitya ( HIND305 )	28	11	30	52	25	70	-	-	-	-	80	40	100	O+	8.50	6	51.00	7.98	7.50	O	PASS
Chaayavadottar Hindi Kavita ( HIND306 )	30	11	30	44	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00				
Social-Religious Reform Movements in India (19th and 20th Centuries) ( HIST(A)310 )	27	11	30	52	25	70	-	-	-	-	79	40	100	O	8.00	6	48.00				
History of Himachal Pradesh, 1815-1972 ( HIST(A)312 )	28	11	30	44	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00				
Themes in Comparative Political Theory ( POLS 301 (A) )	29	11	30	51	25	70	-	-	-	-	80	40	100	O+	8.50	6	51.00				
Democracy and Governance ( POLS 302 (A) )	29	11	30	45	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00				
Conflict and Peace Building ( POLS 304 )	30	11	30	53	25	70	-	-	-	-	83	40	100	O+	8.50	4	34.00				
Democratic Awareness Through Legal Literacy ( POLS- 303 )	28	11	30	47	25	70	-	-	-	-	75	40	100	O	8.00	4	32.00				
										-	MO/MM- 617 / 800					TC-44	TCP - 351.00	Dis. -			
First Year: MO/MM- 532/800 TC- 44 TCP- 311.00 GPA- 7.07							Second Year: MO/MM- 573/800 TC- 44 TCP- 328.00 GPA- 7.45							<b>Grand Total: 1722</b>				<b>TMM: 2400</b>			

**This result is declared as per the university ordinance and result declaration rules adopted by the university from time to time. The result is being processed through ERP system on the basis of the awards entered and verified by the colleges and the concerned examination branches.**

**A.R. / D.R. (Exam-I)**  
H.P.University, Shimla-5.

Dated : .....

**Controller of Examinations**  
H.P.University, Shimla-5.

**Note: This TR is also available on the Concerned Examination Branches, College id's and Department Chairman id's for their information and record purpose.**

**A.R. / D.R. (Exam-I)**  
H.P.University, Shimla-5.